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KOSPI -1.9 -3.8 0.2 -8.0 11.2 1.5 1.0 0.9 22 23 (o s PP
SHUEE -0.1 0.8 -0.0 -6.6 9.1 8.0 0.7 0.7 6.1 65 5o
SKE2= -0.6 -1.0 -3.7 -10.4 11.6 95 0.9 0.9 6.8 7.1
KT 0.7 3.0 0.7 19 7.7 7.1 0.6 0.6 59 6.3 “©
LGREZA 0.0 0.8 7.6 -11.4 8.0 7.2 0.6 0.6 5.2 58 42
AT&T 0.4 0.2 12.1 -7.7 7.3 75 1.1 1.0 6.4 59 3g
Verizon -2.0 -2.3 -11.5 -26.4 7.2 7.4 1.7 16 6.9 7.0
T-Mobile -7.1 -3.2 -2.8 8.5 68.3 20.6 25 26 0.0 0.0 3
NTT 0.8 -3.1 -5.2 -4.8 1.9 10.8 1.7 15 3.1 33 30 + i i i

21.12 22,4 '22.8 '22.12
KDDI 0.3 -5.9 -9.1 -10.5 135 12.8 1.8 17 3.1 3.4
Softbank 1.9 -11.3 121 1.2 201 18.1 0.9 0.9 0.7 0.7 SKT 46.0% (-0.1%p WoW, -0.4%p MoM)
China Mobile 0.6 5.0 0.7 33 7.7 7.1 0.8 0.7 8.3 96 KT  43.5%(-0.4%p WoW,-0.6%p MoM)
China Unicom 16 29.0 238 235 74 6.7 0.4 0.4 6.6 8.0 ;E?*KTE‘E‘(-BOJ/: ;;‘;‘;"E;"‘i’;\’g];ﬂ%p MoM)
China Telecom 2.2 143 15,5 15.9 9.3 8.2 0.6 0.6 7.0 8.5 e s -
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3%t A2t &Y Aol HI|&0[9 EBITDA EV/EBITDA (HH) ROE (%)
[C=EC)] (83 B 2022E 2023E 2022E 2023E 2022E 2023E 2022E 2023E 2022E 2023E 2022E 2023E ‘
= SKH2|Z 50,000 8.4 13.0 13.4 12 13 0.7 0.9 4.1 42 38 37 8.0 9.4
KT 37,700 7.6 19.1 19.8 13 14 0.9 1.0 4.1 43 32 3.1 8.1 83
LGRE2A 12,050 40 10.6 109 0.8 0.8 05 0.6 2.7 2.7 33 32 83 8.8
o|= AT&T 19.1 136.1 126.5 122.9 228 240 19.2 189 415 42.7 6.9 6.7 13.3 134
Verizon 37.4 157.1 136.9 1386 308 31.2 209 212 480 487 6.3 6.2 24.5 21.9
T-Mobile 141.6 176.1 80.2 83.0 6.9 145 25 8.3 27.3 29.4 9.1 85 38 131
U= NTT 3,753 99.6 93.4 93.4 136 135 8.7 89 252 25.0 6.9 6.7 146 144
KDDI 4,018 67.8 416 409 8.1 8.0 5.1 5.1 139 132 57 57 138 135
Softbank 6,168 77.9 473 480 -1.4 09 44 43 44 79 458 24.4 47 5.4
== China Mobile 51.7 1452 132.6 142.2 18.7 202 17.9 19.3 47.2 499 2.0 1.9 103 106
China Unicom 46 18.0 490 51.8 2.0 2.3 2.3 26 139 145 0.9 0.8 5.0 5.4
China Telecom 32 54.8 68.4 739 5.1 58 41 46 18.8 20.1 2.7 26 6.5 7.1
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